
sales@rhino4x4.com.au                                                                           www.rhino4x4.com.au 

 

 

FJ Cruiser basic Install guide 

Please contact us if further assistance required 

 

 

 

 

 

 

 

 

 

 

 

 

 

mailto:sales@rhino4x4.com.au


sales@rhino4x4.com.au                                                                           www.rhino4x4.com.au 

  

If the customer or nominated agent chooses to self-install, or have the product(s) installed including 

any modification at a non-accredited Rhino4x4 Re-Seller/Workshop, Rhino4x4 is not responsible or 

liable for any loss suffered, including indirect or consequential damages caused to the vehicle during 

and arising from or in relation to such installation 

Note: Ensure no pipes or cables contact the bar or moving parts. Ensure all pipes or cables are well 

insulated and fastened appropriately.  

mailto:sales@rhino4x4.com.au


sales@rhino4x4.com.au                                                                           www.rhino4x4.com.au 

 

1. Remove front bumper bar, grill and bumper bar iron 

 

2. Remove the cooler pipe bracket and discard 

 
 

3. Relocate cooler pipe higher as per photo so that winch cradle can be located into position 

 
 

  

mailto:sales@rhino4x4.com.au


sales@rhino4x4.com.au                                                                           www.rhino4x4.com.au 

 

4. Locate winch cradle and bumper assembly and fasten using existing fasteners on front of 

chassis. 

5. Then locate and fasten the side plates using M10 and M12 bolts in side of chassis as per 

photos 

 

6. Locate and fasten light mounting bar using supplied M10 bolts into top of bar 

  

  

  

  

  

  

  

  

  

  

  

 

7. Locate and fasten bash plate using three bolts in front and fasteners at rear. 

8. Wheel arch liners will need to be trimmed and cable tied 

9. Your kit includes a universal washer bottle. You can choose to install this in a location 

under bonnet that is free from accessories. Some choose to continue using existing washer 

bottle and paint black for visual aesthetics.  

10. Plug in fog lights to existing wiring where optioned 

 

Existing threaded studs 

and original nuts 

M10 bolt 

from kit 

M12 bolt 

from kit 

Fasten leading 

edge of bash plate 

mailto:sales@rhino4x4.com.au

